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y=1(x) «x
y="1(X) x=Xg (
__ ) X =X
Af(Xg) =T (Xg+AX)—T(Xg) Xo « )

X0 y="1(X) X <
N(XO,5) )
f(X) Xg Xg N (Xq,9)
X f(x)< f(Xp)

Af = f(x)—f(Xg) <0 N(X5,0) Xg

f (x)

X > X if _ f(Xg + AX) — f(XO)SO
X X — X

im A <o f/(X) <0

AX—0" AX
Af _ f(x)—f(Xp) >0

X < Xg
AX X —Xp

. Af
Iim —>0 f'(x,)>0
AX—0" AX _( 0)
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f/(x)20  f'(X,) <0

f'(Xy) =0

4.2

4.1 (Fermat )
f (X) 1° N(x,,d)
Vxe N(Xy,0) T(X)< (X)) = T(Xg)) =

Xg f'(xq) =0

y=1(x) [ab]

f/(a)f’(b) <0 Ix, < (a,b)
f'(Xy) = 0¢ )

f'(x) a,b f/(a)<0
fy X=4a X=a f(x)
f'(b)>0, f(x) x=b X=Db

f (%) X0 e(a,b)
f'(Xy) =0

f'(a)<0 f'(b)>0¢ )

fa*) = lim X = 1@ 4

Xx—a' X—a
Ve >0 36,>0 O<x—-a<o
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HOBPRRE O

<fl@)+e
51:—%f+’(a)>0

£ (x) - f(a)<%f+’(a)(x—a)<0

f(x)<f(a) f(a) f(x) [aDb]
f'(b)>0 Ve, >0 F0,>0
O<b-x<6,

£ (0)— &, < f(x)‘;(b)< £ (0)+ &,

gzzgf_’(b)>0

f(x)—f(b)<gf_’(b)(x—b)<0
()< f0) f(b) (X [ab]

f(x) [a,b]
f(xo) f(x) [ab]
Xg #a,Xy =D Xg € (a,b)
f'(Xg) =0
4.2 (Rolle) y = f(x) 1° [a,b]
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» (a,b)
» f(a)=f(b)

Ife(@b) 1(5)=0c x=¢
)

f(x) [a,b]
fa)= f(b) f(x) 0
f(x)=C Vxelab] f'(x)=0  f(x)
[a, 0]

f(§)=xggg>t<)] f(x) f(x) f($)

(a,b)
f'($)=0
4.3 (Lagrange)  f(X)

r  [a,b] 2 (ab)

3¢ e(a,b) f'(&) = f(bg:;(a)
AG@ @) B, () .
f(b) - f(a):KAB .

b—a

- 1@ =0 @ g
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F(x)=f(x)-y(x)
— f(x)— f(a)— f(bt)):;(a)(x—a)

F(x) [a,b]
F(a)=0, F(h)=0 3&e(ab)
F@)=0 frg=1 T
1 (Rolle)
(4.1)

f()—f(a)="1'($)(b-a)
- f(a+O(b—a))b—a) (0<O<1)

F(x)=1(Xp) + T(E)(X=%0)

f(xg+h)=1f(xy)+ f'(&)h

2

. Vxe(ab) f'(x)=0 f(x)=c
C
. ¥xe(ab) f'()=g'(x) (ab)

F(x)=g(x)+c y=1(x)
y =g(X) (X0:Y0): X0 € (a,b)
f(x)=9g(x)
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s F'(x) [a,b] [a,b] XX,
L>0

(X)) — F(x) S Lxp — x|
L O<L<1 y = f(x)

+ VXe(a,b) f'xX)>20 y="1(x)
(a,b) ¢ f'(x)>0 y=f(x)
f’(X)SO ( <0 Y= f(X) «C )

4

o Yy=1(X) x X, f(X)
: f(x) [a,b]
@ y = f(X)
4.4 (Cauchy) f (X) g (X) )
[a,b] ©) (a,b)
g(b) # g(a), g'(x)#0 @b) :

f(b)-f(a) _ f'(S)
g(b)—g(@ g'($)

4.3
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£ (x)
S 61 62

42 mn f(xX)=x"1L-x)" f'(X) o

(B)
A0 @®B1 ©2 (©S3
®

f(0)=f@)=0
e f'(5)=0
fr(x) =mx™t(L-x)" —nx™(@1- x)"?
=x™1 2= x)"*(m—=mx - nx)
f'(x)=0 xe€(0,)

X120 xg= " e(0))
m+n
=%y T'(x)
4.3 f (X) 1 [O, 1]
f(1) =0,
M = Xrg[g’)i]\ f(x) £ell,2)
/(&)= 2M
F(x)

& e(0,1) [f'(&)=2M  Lagrange
f(x) [0,1] [0, 1]
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f(1)=f(0)=0,

weon |F(xy) =M= Xrg[%]\ f(x)

0, xpm) M =0=1'(53)A— Xy )
(Xm» 1) 0+M = f'($1)Xm

& €(0,xy) & elxy,1)

2M = ‘ f'(&1)xum ‘+‘f '(&)A— Xy )‘
/(&) = max{{ f (&), | (&)}

S0 E(O’ 1) 2M S‘f'(fo)‘
E=1+&eL,2)  [f/(E)=2M.

4

e F(X) 12 f()=f(2)=0

F(x) = (x-1)? f (x) X, € (1,2)
F"(xg) =0
F'(x)

( 1)

F'(x)=2(x=1) f(x)+ (x=1)% f'(x)
x=1 F'Q)=0
F()=0,F(2)=f(2)=0
16 €@2) F'(&)=0 F'(X) na
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Elé: = Xp € (1’ é:l) - (1’2)

F”(Xo) — 0
« 2
F"(X) # 0 F”(X) (1.2)
F'(x)>0 F'(x) [L2]

F'1)=0 xe(,2) F'(x)>0
vxe(,2) F'(x)
FQO=F(2)=0 1£ €(1,2)
F'(&)=0 F'(X)
Ixp €(@,2) F"(xy)=0
a5 g(X)=x(x+D(2x+1)(3x-1)
g'(x)=0 (-1,0)

g(x)
g'(x) 9'(x)
g(x) (o0, +00) g(x) 4 X| = 0
1
Xo ==1 Xq=——
2 3 5
1 1
Xq =—— "(X 3 0,=
=73 g'(%) §€(0,)

1 1
G € (—1,—5) 63 € (_E’O)
g'(x) s 3 g'(x) (-10)

2
www.tsinghuatutor.com -9- 1101 62781785



2005 1006 1101

26 X>0

5 <arctan(x+1 X
X" +2X+2 4
1 X>0
T
1 arctan(x +1 41
5 < <=
X“+2X+2 X 2
arctanlzg X € (0, o0)
f (x) = arctan x
arctan(x +1) — r
4 _T0-fQ
X (x+1)-1
[1, 1+ X] Lagrange
arctan(x+1) — r 1
(x+1)-1 :1+§2’ e ebx+)
1
1+ x°
T
1 arctan(x +1 41
< <=

X2 4+ 2X+2 X 2

2
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f(x) =(x%+2x+ 2)arctan(x +1)
—%(x2 +2X+2) - X

f(0)=0.

f/(x) = (2% + 2) arctan(x + 1) —%(2x+ 2)

= (2x + 2)[arctan(x +1) — %] >0

x>0 f(x)>0

p(Xx) =arctan(x +1) — % — g ,0(0)=0

L 2—1<O, = @p(x)<0
1+ (x+D*° 2

@'(X) =

7 f(x)eC[01] (01
f(0)=f()=0 £ e (0,1)
2f(5)+&'(8) =0
F(x) = x2f (X)
F(x)eC[01] (0))
FO=F@Q)=0 F(X)
se(01) F'()=0

28 (&) +&°1'(8) =0
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E#0
( )
1 x f(x) < f(xp)
F(x) = 1(xp))
f(Xo)  T(X) ®
X = X f'(xg) =0

f'(x)=0 X  f(x)

X9

4.5 ( )
f(X) X X,
Af(X)=T(X)—T(Xg) X =Xg
f(x) Af(X) >0 X
AfF(X) <0 X

ss f (X) = ‘1— X‘ [—l,l]
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1-x x2>1
X<l Af =x-1-f(1)=x-1<0
X>1 Af =1-x-f(1)=1-x<0

{x—l X <1
f(X) = f(1) =0

Xx=1 Af <0 Xx=1
4.6 ( )
F(X) x (X0 =8, %)U (%, Xg + )
Xg f'(x) Xq Xg f(X)

o Xe(Xg—35,x) f'(x)>0
Xe(Xg,Xg+0) f'(X)<0 x=x,
@ Xe(Xg—35,X) f'(x) <0
Xe(Xg,Xg+5) F'(X)>0 x=Xg
4.10 X3—3X+A=O A

@

@

€)

f(x)=x®-3x+A f(x)

f'(x) =3x% —=3=3(x+1)(x 1)
f'(x)=0 Xp=-1 x, =1
Xe(—o,-1) f'(x)>0 f(x)
xe(-11) f'(x)<0 f(x)
Xe(L+o) f'(x)>0 f(x)
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Xy =—1 f(x) Xo =1 f(x)
f(x)
w f(=)=A+2 f(1)=A-2
( ) Y= f(X) (—1,—|—OO)
lim f(x)=-0 f(X) (~0,-1)

F(X) (—o0,—1)
f(=1)-f(1)=(A+2)(A-2)>0

A A°-4>0 |A>2

) f(X)
f(-1)-fQ)=A*-4=0
f () A =2

o fCD)  fQ)
lim f(xX) =40  f(X)

(—OO,—]_), (_1’1) (1’+OO) ‘A‘ <2
4.7 ( ) f ’(Xo) =0
F'(%)<0(>0) f(xo) ¢ »

it f(x):gx?’ —3x% +4x+5

f'(x)=2x% —6x+4=2(x-1)(x—2)
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Xy =1 X, =2
f'"(x)=4x-6 f"(1)=-2<0

f(l):2—30 f"(2)=2>0
f(2) =%

f (X) [a, b] [a,b]
[a,b] f(x) [a,b]

e Y =X —5x*+ 5x° +1 [-1,2]

y' =5x% —20x> +15x% =5x%(x —1)(x — 3)

y' =0 y;=0 X,=1 X3=3
y" =20x> —60x° +30X X3 [-1,2]
y' (0 =0 y'"(1=-10<0
y(0)=1 y(1)=2
y(-1)=-10 y(2)=-7
y=1(x) [-12] y(-1) =-10
y()=2
4.13 1<x<3e
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1-(In3)? <Inx?—In?x <1
f(x)=2Inx=In’  f(x) [L3e]

f’(x)=g—glnx
X X

f'(x)=0 Xg =€ €[1,3€]
f(xg)=f(e)=2-1=1 f(@)=0

f (3e) = 2In(3e) — (In3e)?
=In(3e)(L1-In3) =1—(In3)?

max f =1 min f =1—(In3)?
xe[1,3¢e] xe[1,3e]

2 (a,b)
(a,b)
(a,b)

(a,b)

f(x) (a,b)
(a,b) (a,b)
f(x) (a,b)
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im f(x)=A lim f(x)=B
X—a’ X—b~
4.14 XE(O,Z)
4xInx > x° +2x -3
f(x)=4xInx—x%—2x+3
f(X) 0,2)
f'(X)=4+4Inx—2x-2
f'(x)=0 Xg =1€(0,2)

lim f(x)=3>0
X—0"
lim f(x)=8In2-5>0

X—>2"
" Zl "
f'(X)=—-2  f"(X,)=2>0
X
f())=0= min f(x)

xe(0,2)
£(x) >0
415 (X) = ﬁln X (O,—I—OO)
f’(x)=f+ Z%Inx:%(Zan)

f'(x)=0 Xo =€ 2 € (0,+o0)
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xe(0,e7?) f'(x)<0 f(x)
xe(@?+0) f'(x)>0 f(X)

Xo =€ f(X)

lim /xInx=0 lim /xIn X = 4o

Xx—0" X—>+00
f(x) (0,40) f(e?)=—e
)
)
4.2 ) )
X y = f(x)
f'(x) f'(x)
f "(X) f(x)
4.8 | f ”(X) > O(< O)
y="1(X) o
y = f(x) (0. £ (%))
f"(%9) =0
f(x) Xg
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f(X) f'(x)

® N x (X0, f(X0))
y=f(x)

@ f"(X) Xg (X0, T (X))
y=1(x)

@ F'(X)=0 f"(xg)=0 (Xg, f(Xy))

y=1(x)

4.9 y=f(X) X, n

f'(Xg) = f"(xg) == f"(x5) =0
f(M(x,)#0
@ N= 2K

f (%) >0 X

@ N=2k-1 (X5, F(X)) y=Tf(x)
4.16 X=0

f(x)=e"+e7* +2cosx

f'(x)=e*—e* -2sinx f'(0)=0
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f"(x)=e*+e™* -2cosx f"(0)=0
f"(x)=e*—e ™ +2sinx f"(0)=0
f @ (x)=e*+e™* +2cosx

f0)y=4>0
19 X=0 f(X)

r F(X) =X o

w X=0 f(x)
® X=0 f(X)

© (0,1(0) y=1(x) ® HEE

f'(0)=f"(0)= f"(0)=f®(0)=0

f©0)=5=0 ©
e F(X) x=0 £'(0)=0
lim %)
x—01 — COS X
w F(0) f(x)
® f(0) f(x)
©) (O, f (O)) y = f (X) o X= 0
f(x)

=1 &
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(0, £(0)) y = f(x)
im X1 o) =0

x—01—COoS X
(0, 1(0))
Xo f"(x)>0
f'(x) f(0)=0 f'(x)
x=0 f(x) X X
f(x) Xx=0 f(x)

(®)
4.19

L+x)* >1+Ax (A>1,x>-1).

f(x)=(1+x)* —1- Ax
f(x)>0.
fr(x)= A0+ x)* =2 =20+ x)*T -1]
fF'(x)=0  f(x) x=0
x<0 f'(x)<0
x>0 f'(x)>0 f(0)=0 f(x)
f(x)> f(0)=0
1+ x)* =1+ Ax
+20 T(X) [a,b] , f(a)= f(b),
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" _2f'(é:)
ce(@b) @)=
Rolle dXq € (a, b) f’(XO) =0

21'(8) = 1"(5)b-2)

F(x)=(b—x)?f'(x)
F(b) = F(XO) =0 Rolle
3&e(X, b) F'(5)=0
F'(x)=-2(b—x)f'(x)+ (b—x)*f"(x)
X=¢&

200 - &) F'(&) = (b-&)* (&)
Se(Xg, b) &=b
f"(E)b-&)=2f'(¢)
v 2F(&)
f (§>=W ¢ e (a,b)
o F(X)  [ab]
f(a)=f(b), f"(x)=0

L Wxe(@b) f(x)=f(O)=0 & f(X)

(a,b)

: Ee(ab), f'(E)=0 o
se(ab), f(5)=0
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®» © X € (a,b)
F(X)-T(0)=0 f(x)
Rolle f(x) f”(X) (a,b)
f"(x) =0

f(a)=f(b), f"(x)=0

f"(x) (a,b) ® D
4.22 k>0
F(X)=Inx—2+Kk
e

c
A0 B1 (2 (©:3

f’(x)=i—1 Xg =€
X e

f(0")=—o0, f(e)=k >0, f(+0)=-00
xe(0, &) f'(X)>0,=f(X)T f(X)
X, €(0,€)
xe(e, +x) f'(x)<0,= f(X)4 f(X)
X5 € (e, + o0) c
223 T(X) (—o00, 4+ 0) lim f'(x) =2

X—00

Iim(mjx — lim[f(x+1) - f (0]

X—oo\ X —C X—>00
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. (x+c)
lim| ——
X—>oo\ X —C
X—C 2CX
. 2C \ 2c x-c
= lim| 1+ — ¢
X—>00 X—C
Lagrange

lim[f(x+1) - f(x)]= lim f'(&)-1=2

X—>00 X—>00
E e (X, X+1) e%® =2 c:l%z-
.24 O<a<b
0, 20-2)
a a+b
2(b—1)
[ -
a 1+b
a
(1+9)In9>2(9—1)
a a a
b

t=—. f()=@+t)nt-20-1)
t>1, f(1)=0
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f'(t) zltitﬂnt—z(t—l) f'(1) =0,

f”(t)=%(1—%)>0

= f'(t)>0,= f(t)>0

® C Iim f(x)=C
X—>+00
lim f(x)=C y=C y=1(x)
X—>—00
@ Xy lim f(x)=0 [lim f(x)=o0
X—>X; X—>X,
X=X y=Tf(x)
_sinx lim smx:O
X—1 x—oo X —1
y=0 lim>" % — o
x—>1X—1
Xx=1
3 y=ax+Db
lim (f(x) —ax—b) =0 y=ax+Db
X—>F0o0
y = T(x)
[im wza

X—>to X
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lim (f(x)—ax)=Db

X—>to0
lim T =a
X—>+oo X
y = X+SIn X Iimwzlza
X—oo X
lim (f(x)—ax) =limsinx
X—>=o0 X—>00
b
2 X
» £ (%) = (3x* +1)(e” —-1)

X—1

1

(3x* +1)(e* -1) _

lim f(x) = lim o
X—1 X—1 X—1
2 X

lim f(x) = lim & HDE -0 _
X—1" X—1" X—1

X=1
lim f(x)= lim (3" +1(e* -1 _
X—>—00 X—>—00 X —1
lim f(x)= lim (3" +1(e* -1 _

X—>+00 X—>+00 X—-1

3
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2 X
im ) _ iy GXEADET D
X—>+o X X—>+00 X(X—l)

X —> +00

i F00_ o B4 -1,
X—>—0 X X—>—00 X(X—l)

b= lim [f(x)-kx]

I
D

X—>—00

_ lim [(3x +1)(e* -1) +3x]
X—>—00 X—

_ lim (3x? +1)(e* —1) +3x(x—1)
X—>—00 x—1

_ lim (3x +1)e* —3x-1 _ 3
X—>—00 x—1

X — —0
y =-3(x+1)

4.26 1—6_2)( =X (O, —I—OO)

(A)O. (B)1. ©)2. (D)3.

f(x)=1-e2*—x f(0)=0
f/(x)=2e2¥_1=0 xO:'”?Z
f7(x)=—4e <0 x,
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F0h=1-e2 2.

=—(1-1n2)>0
; 2( )

lim f(x) = —oo

&eéﬁﬂm f (%) <0

In2
X26(7vxl)- f(x)=0

X e (O,InTZ) f'(x)>0 f(x)

f(x)>f(0)=0
XE(In72,+OO) f'(x)<0 f(x)

Xy f(X) (In72,+oo)

X, f(xX) (0,+x)

f'(x) f'(x)
sor ¥ (X) [O, + OO) S (O, + OO)
£')20  (0,+w)  y=f(x)
(X0, T(Xg))

y(X) = f(Xo) + T'(X)(x=Xo)

F(x) = f(x) = y(x)
= (0~ f (%)~ F'(%)(X~Xp)
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F(x) (0,400
(X0, T(Xg))

F(x) (0,+ )
F'(x)=1'(x)—'(X0), F'(Xg) =0
F'(x)=1"(x) =0 F"(x)>0
F'(xg)>0 F(x9)=0 F(X)

0 < X< X
F'(X)<0=F(X)y=F(X)>0

x>%X, F'(X)>0=>F(X)T=F(x)>0
F(x,)=0 F(x) (0, +o0)

F(x)>0(x=Xp)

y="1(x) (X0, T(X0))

Xy # X Xy >Xg [Xgy X{]  vegrenge

3¢ e (Xg, %)
TERIORIC)
1~ Xp

(X1, £(%1)), (X0, T(Xp))

(=70 2 )
1720

Rolle 3§1€(X0,§)

t"(c)=0  1°(x)#0
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4.28 f (X) (—1, 1)

[im f(x) =a
Xx—>0" X
f(x) x=0 A

wa ®—a o0

FOO_ o P _ T

lIm
Xx—0" X Xx—=0" —X Xx—=0" X
f(x) x=0 .
X 2 I
4.29 27 +2X°4+x=-1=0

2X 4+ 2x% +x-1=0
f(x)=2"+2x%+x-1 f(X)

f*(x) =2*(In2)* + 4
f*(x) =2*(In2)* + 4

s30 f (X)
f7(x)+[f'(0)]° =2sinx.

w f "(O) ;ﬁ:(; x=0 y= f (X)
(8) f’(O)ZO X=0 ny(X)
o f'(0)=0 (0,f(0)) y = f(X)
o f"(0)=0 (0, f(0)) y=f(x)
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f'(0)=0
f7(x)+[f'(x)]* =2sinx £"(0)=0
f"(x)=2cosx—2[f'(x)]- f"(x)
f"(0)=2>0

0,1(0) y=1f(x) o ©
f ”(O) 0 f '(O) 0. ® o
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